EXEHAEE OLREX

BEREE HEFERE (A BIEERE (B) % (A) - (B)
< Y—EXEHEROE >
< BE >
SEIE 41, 200 38, 400 2,800
EERERmySNE 326, 000 13, 147, 800 ~12, 821, 800
B £ IR % 0 23, 640, 000 ~23, 640, 000
ZHRERE 1,226,880 1,248, 480 ~21, 600
SERE 10, 750, 125 10,339, 316 410, 809
H—E R EBIREET (1) 12, 344, 205 48,413,996 ~36, 069, 791
< BF >
ANEE 1163, 431 1,252, 994 ~89, 563
EE3 11,202, 623 10, 795, 305 407,318
EBE 220, 400 105, 000 115, 400
BESER 0 10, 000 ~10, 000
BAmEHE 8, 209, 649 6,001, 106 2, 208, 543
EERNE SR E IS NGE ~8, 209, 649 =6, 001, 106 ~2, 208, 543
H—EREBHEMAT 2 12,586, 454 12, 163, 299 423,155
T EXEBERERE()=1)-Q) 242, 249 36, 250, 697 ~36, 492, 946
< Y—EXRFEHIMERDOE >
< E&E >
ZIF B RS S R 21 17 4
H—EXFEBIMNNEE D) 21 17 4
< BE >
H—EXFBNEREOG) 0 0 0
H—EXFEEIMERZEL 6)=(4)-5) 21 17 4
EEEREED=-0)+6 242, 228 36, 250, 714 ~36, 492, 942
< HIBBOH >
< & >
BRI AT (8) 0 0 0
< BE >
BElEEESTAIE - LH1E 0 11, 801 -11, 801
EEMBEFRAEILSIGLE CGRA%E) 0 -11, 801 11, 801
EEREE R e 0 36, 771, 800 ~36, 771, 800
HRI%& Rt (9) 0 36, 771, 800 ~36, 771, 800
AR EEE (100=(8)-0) 0 ~36, 771, 800 36, 771, 800
LEEEIERERE(D)=()+(10) 242,228 521, 086 278, 858
< RBRUTEEHEREOS >
B B = 28 (12) 1,179, 939 761, 025 418,914
LR B R E%E (13)=(11)+(12) 937, 711 239, 939 697, 712
EXRSENEHEE (14) 0 0 0
AL EERZE (5) 0 0 0
Z QMO B A% (16) 0 940, 000 ~940, 000
ZOHDRE 2R E (1)) 600, 000 0 600, 000
RIGHRALE BB IR 2= 8 337, 711 1,179, 939 -842, 228

(18)=(13)+(14)+(15)+(16)-(17)




